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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ORgES 1,500, 000& 1,500
OuESSH ety 1,000, 000& 1,000
d&EA 08 43t 6,300 0 6,300
201 Let249] 300 0 300
02 8323l 300 0 300
OXNEANEZ B It 300,000 300
401 Al& I 28I 6,000 0 6,000
01 A& HI 6,000 0 6,000
OX&EA 220 4X 1,200,000 *5J4 & 6,000
WESAUTAEE EX - I 342,980 0 342,980
201 Let2d] 12,980 0 12,980
02 2=22Z 4l 12,980 0 12,980
OQuEctdEAIE&=2 &JIe32 & 700,000&«12& 8,400
ORI DEEEY HIBA++E
2,290,000& »23| 4,580
401 AIEHIZ 28I 330,000 0 330,000
01 A& Hl 330,000 0 330,000
OQUSAME2(EXE, BAHE, E2tE S) &X
- &l 150,000, 000& 150,000
OXE M FH| 30,000& *2,000m’ 60,000
OxXsd=2elli &X - #Hl 200,000& x300& 2t 60,000
O0NEEXNEZE AX - HHI
40,000& =1,500m’ 60,000
HEolE2s329Y e AY 30,000 0 30,000
401 Al BIZ 201 8] 30,000 0 30,000
01 A& HI 30,000 0 30,000
OsS&HA - AMdEX S &I 15,000, 000& 15,000
OLSEA Ul £ JIE HEAEE2 FH|
15,000, 000& 15,000
HASLE - EHES 02t ZHAIE &EX 15,000 0 15,000
401 AIEHIZ 28I 15,000 0 15,000
01 A& HI 15,000 0 15,000
OHASZZE e 288 &
3,000,000 =54 A~ 15,000
HAS2ZE &% - | 24,000 0 24,000
401 A& BIZ 201 8I 24,000 0 24,000
01 A& HI 24,000 0 24,000
OAs2&d &A1 - i 8,000,000 =34 2 24,000
WSANEEs s XA & 2,000 0 2,000
05 e 2s 2,000 0 2,000
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A ZE a9 (3) - HRAY - By il 2
O3ZF=x& 0 = (12t 33X 0l &)
1,000& x 100 x8H 123 960
Oguse ZL=XE OIEHMS(SELLR)
1,000& #2001 x150H 3,000
HE2IAZH (nSdHAD) 94,593 94,593
2l 94,593 94,593
A2 Z 8l 94,593 94,593
201 Let24d] 11,313 11,313
01 At 2teltl 11,313 11,313
ORNEY Jl= 279,000& »23H 6,417
OJlege=d 8,000 *3AIx17H 123 4,896
202 oddl 73,200 73,200
01 = LH o4 1l 73,200 73,200
OoJ|l2ge-d 260,000& 17"+ 123 53,040
OFXe=d o 280,000 x6H x12& 20,160
203 YR =& 4,800 4,800
04 FN2ELSZ=TH| 4,800 4,800
ORAN2EYE=AHI 400,000& 123 4,800
405 THobH S| 5,280 5,280
01 AL EFHSE 5,280 5,280
O&A oXt + 240,000& 22K 5,280




